Page 1 of 10
SA001082

// "
.I..||||®./. |u

23
24

22

GETRIEBEHALTER, BUERSTENABDECKUNG

KEHRMASCHINE EDV-NR.SAB00726




KEHRMASCHINE EDV-NR.SAB00726
GETRIEBEHALTER, BUERSTENABDECKUNG

Page 2 of 10

srenznummer  Artikelnummer Menge  Description
1 SA31774 1 HALTER * ASSY
2  SA31775 1  ABDECKUNG ASSY INCL KEYS 3,4,5
3 21M7314 10 SCHRAUBE * M8X16
4  SA15203 10 UNTERLEGSCHEIBE B8,4
5 SA15413 10 MUTTER M8
6 SA31776 1 ABDECKUNG LH
7  SA31777 1 ABDECKUNG RH
8 SA31780 1  SCHWENKHEBEL ASSY INCL KEYS
9,10,11,12
9 SA15342 2 SECHSKANTSCHRAUBE M10X25
10 24M7213 2 UNTERLEGSCHEIBE 10,5X25X4
11 SA15415 2 MUTTER M10
12 SA15205 2 UNTERLEGSCHEIBE B10,5
13  SA31808 2 HALTER * ASSY INCL KEYS 14,15,16
14  21M7314 4  SCHRAUBE * M8X16
15  SA15203 4 UNTERLEGSCHEIBE B8,4
16 SA15413 4 MUTTER M8
17  SA31807 1 BLATTFEDER ASSY INCL KEYS 18,19
18  19M7077 1 SECHSKANTSCHRAUBE (SUB FOR SA15323)
19  24M7100 1  UNTERLEGSCHEIBE 6,6X22X2
20 SA31778 1  HANDHEBEL ASSY
21 SA31782 1  KEILRIEMEN
22  SA31779 1 RIEMENSCHEIBE ASSY INCL KEYS 23,24
23  SA15342 1  SECHSKANTSCHRAUBE M10X25
24  SA15220 1 UNTERLEGSCHEIBE A10,5
25  SA31781 1 FUEHRUNG ASSY INCL KEYS 26,27,28
26 03M7221 2 SCHRAUBE * M6X16
27  SA15202 2 UNTERLEGSCHEIBE B6,4
28 SA15412 2 MUTTER M6
29  SA31802 1 VERRIEGELUNG



KEHRMASCHINE EDV-NR.SAB00726 Page 3 of 10
KEHRBOX

SA001083



KEHRMASCHINE EDV-NR.SAB00726

Page 4 of 10

KEHRBOX
srenznummer  Artikelnummer Menge  Description
1 SA31784 2 SCHIENE ASSY INCL KEYS 1,3,4,5,6,7,8,9
2  SA31809 1 GRASFANGBEHAELTER ASSY
3 21M7315 8 SCHRAUBE * M6X16
4 21M7312 11 SCHRAUBE * M6X12
5 21M7455 4  SCHRAUBE * M6X20
6 SA15220 23 UNTERLEGSCHEIBE A6,4
7  SA15412 23 MUTTER M6
8 SA31783 4  RAD ASSY INCL KEY 9
9 SA15206 4  SCHEIBE B13



KEHRMASCHINE EDV-NR.SAB00726 Page 5 of 10
KEHRBUERSTEN, GETRIEBE

SA001084



KEHRMASCHINE EDV-NR.SAB00726 Page 6 of 10
KEHRBUERSTEN, GETRIEBE

srenznummer  Artikelnummer Menge  Description
1  SA31786 1 GETRIEBE ASSY INCL KEY 2
2 JD30049 1  KUGELLAGER 60042RS
3  SA31787 1 WELLE
4  SA31785 2 KONSOLE ASSY INCL KEYS 5,6
5 SA15693 1  SICHERUNGSMUTTER M12
6 SA15416 3 MUTTER M12
7  SA31788 1 BUERSTE



KEHRMASCHINE EDV-NR.SAB00726 Page 7 of 10
KUPPLUNG

SA001081



KEHRMASCHINE EDV-NR.SAB00726

Page 8 of 10

Description

KUPPLUNG
srenznummer  Artikelnummer Menge
1 SA31771 1
2  SA15567 1
3  SA15223 4
4 21M7314 8
5 SA15203 8
6 SA15413 8
7  SA15774 2
8 SA31769 1
9 SA31770 1
10 SA15329 1
11 SA15203 1
12 SA31772 1
13  SA15329 1
14  SA31773 1
15  SA15757 1
16 24M7099 1
17  LCA73043 1
18 SA15732 1
1

19  SA31764

KUPPLUNG ASSY INCL KEYS 2,3,4,5,7
SCHRAUBE * M8X12

SCHEIBE B21

SCHRAUBE * M8X16
UNTERLEGSCHEIBE B8,4

MUTTER M8

STELLSCHRAUBE M6X8

BUEGEL

SCHUTZ ASSY INCL KEYS 10,11
SECHSKANTSCHRAUBE M8X16
UNTERLEGSCHEIBE B8,4
FUEHRUNG ASSY INCL KEY 13
SECHSKANTSCHRAUBE M8X16
ANTRIEBSWELLE ASSY INCL KEYS
15,16,17,18

SPANNSTIFT 6X40
UNTERLEGSCHEIBE 21X34X3
SCHEIBE 20X28X1
SPRENGRING A20X1,2

GRIFF * ASSY



KEHRMASCHINE EDV-NR.SAB00726 Page 9 of 10
STUETZRAD, STELLSEGMENT

Th
€

10

SA001085




KEHRMASCHINE EDV-NR.SAB00726
STUETZRAD, STELLSEGMENT

Page 10 of 10

srenznummer  Artikelnummer Menge  Description
1 SA31789 1  SCHUTZ ASSY INCL KEYS 2,3,4
2  21M7312 2 SCHRAUBE * M6X12
3 21M7089 1  SCHRAUBE * M8X20
4  SA15412 2 MUTTER M6
5 SA31790 1 GRIFF*
6 SA31791 1  VERSTELLVORRICHTUNG ASSY INCL KEYS
7,8,9,10
7  SA15329 3 SECHSKANTSCHRAUBE M8X16
8 SA15203 3 UNTERLEGSCHEIBE B8,4
9 SA15413 3 MUTTER M8
10 SA15694 1  SICHERUNGSMUTTER M10
11 SA31793 1 BALG
12 SA31794 1 TRAEGER ASSY INCL KEYS 13,14
13 19M3155 1  SECHSKANTSCHRAUBE M10X90
14  SA15415 1 MUTTER M10
15  SA31795 1 RAD KOMPL. ASSY
16 SA31792 1  SEGMENT



